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Correct GBL rigidity for Energy Loss:

μ(RTRUE) = ⟨
1

RIL1
− 1

RTRUE

1
RTRUE

⟩ ⇒ RTRUE = RIL1 × (μ(RTRUE) + 1)

Use Newton’s root finding method to solve for RTRUE, with RIL1 as fixed point.

The Newton’s method is an iterative algorithm which requires the first derivative, as follows:

{ f(RTRUE) = RIL1 (μ(RTRUE) + 1) − RTRUE = 0
f′￼(RTRUE) = RIL1 μ′￼(RTRUE) − 1 = 0 Rn

TRUE = Rn−1
TRUE −

f(Rn−1
TRUE)

f′￼(Rn−1
TRUE)

Calculate RTRUE using just μ and RIL1. RTRUE will then be our corrected RIL1
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